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(54) COMMUNICATION METHOD AND APPARATUS

(57) A communication method and an apparatus are
provided. The method includes: receiving, by a terminal
device, downlink control information DCI from a network
device on a first downlink carrier; and determining a first
uplink carrier or a second uplink carrier based on the DCI,
where the DCI indicates an uplink carrier to be used by
the terminal device to send an uplink signal to the network
device is the first uplink carrier or the second uplink car-
rier; and a first bit quantity is equal to a second bit quantity,
the first bit quantity is a bit quantity of the DCI for indicating
the first uplink carrier to be used by the terminal device
to send an uplink signal to the network device, and the
second bit quantity is a bit quantity of the DCI for indicat-
ing the second uplink carrier to be used by the terminal
device to send an uplink signal to the network device. In
this application, because the first bit quantity is equal to
the second bit quantity, the terminal device may perform
blind detection in search space based on one bit quantity
of the DCI, so as to improve efficiency of blind detection

for the DCI by the terminal device.
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Description

[0001] This application claims priority to Chinese Patent Application No. 201711066692.X, filed with the National
Intellectual Property Administration, PRC on November 2, 2017 and entitled "COMMUNICATION METHOD AND AP-
PARATUS", which is incorporated herein by reference in its entirety.

TECHNICAL FIELD

[0002] The present invention relates to the field of communications technologies, and in particular, to a communication
method and an apparatus.

BACKGROUND

[0003] In a wireless communications system, a type of communication may vary with types of a sending node and a
receiving node. Generally, downlink communication means that a network device sends information to a terminal device,
and uplink communication means that a terminal device sends information to a network device. In a long term evolution
(long term evolution, LTE)/long term evolution advanced (long term evolution advanced, LTE-A) communications system,
a duplex mode may be mainly classified into a frequency division duplex (frequency division duplex, FDD) mode and a
time division duplex (time division duplex, TDD) mode.
[0004] For a wireless communications system operating in the TDD mode, a downlink carrier and an uplink carrier
are carriers with a same carrier frequency. An uplink-downlink decoupling technology may be applied to a new radio
(new RAT, NR) technology of a fifth-generation (the 5th generation, 5G) mobile communications system. To be specific,
in addition to using a TDD carrier to perform uplink communication and downlink communication, an additional uplink
carrier may also be used to perform uplink communication, and the additional uplink carrier is usually referred to as a
supplementary uplink (supplementary uplink, SUL) carrier, in other words, a terminal device in the NR may have two
uplink carriers at the same time for uplink communication.
[0005] In the prior art, a network device sends downlink control information (downlink control information, DCI) to a
terminal device on some predetermined downlink resources. Correspondingly, the terminal device detects and obtains
the DCI on these downlink resources through blind detection, in other words, the terminal device attempts to detect the
DCI on a plurality of possible control resources that carry the DCI. However, a specific technical solution to a case in
which the terminal device can be scheduled to send PUSCHs on two or more uplink carriers still needs to be further
explored and researched.

SUMMARY

[0006] This application provides a communication method and an apparatus, so as to improve efficiency of blind
detection for DCI by a terminal device that can be scheduled on two or more uplink carriers.
[0007] According to a first aspect, this application provides a communication method, including:

receiving, by a terminal device, downlink control information DCI from a network device on a first downlink carrier,
where the DCI indicates an uplink carrier to be used by the terminal device to send an uplink signal to the network
device is a first uplink carrier or a second uplink carrier; and a first bit quantity is equal to a second bit quantity, the
first bit quantity is a bit quantity of the DCI for indicating the first uplink carrier to be used by the terminal device to
send an uplink signal to the network device, and the second bit quantity is a bit quantity of the DCI for indicating the
second uplink carrier to be used by the terminal device to send an uplink signal to the network device; and
determining, by the terminal device, the first uplink carrier or the second uplink carrier based on the DCI.

[0008] Therefore, because the first bit quantity is equal to the second bit quantity, the terminal device may perform
blind detection for the DCI in search space based on the first bit quantity (or the second bit quantity), in other words,
only needs to perform blind detection in the search space based on one bit quantity of the DCI, so as to improve efficiency
of blind detection for the DCI by the terminal device, and effectively avoid a problem that the terminal device possibly
needs to perform blind detection for the DCI based on a plurality of different bit quantities of the DCI in the prior art.
[0009] In a possible design, the DCI includes a first indicator field, and the first indicator field indicates the first uplink
carrier or the second uplink carrier.
[0010] In a possible design, the determining, by the terminal device, the first uplink carrier or the second uplink carrier
based on the DCI includes:

receiving, by the terminal device, a first message from the network device, where the first message indicates that
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the DCI includes a first indicator field, and the first indicator field indicates the first uplink carrier or the second uplink
carrier; and
determining, by the terminal device, the first uplink carrier or the second uplink carrier based on the first indicator field.

[0011] In a possible design, the first uplink carrier includes at least one uplink bandwidth part BWP, and the second
uplink carrier includes at least one uplink BWP; and
the first indicator field indicates an uplink BWP on the first uplink carrier or an uplink BWP on the second uplink carrier.
[0012] In a possible design, there are at least two serving cells for the terminal device, and the first uplink carrier and
the second uplink carrier belong to one of the at least two serving cells; and
the uplink carrier indicated by the first indicator field is in the first serving cell.
[0013] In a possible design, there are at least two serving cells for the terminal device, the first uplink carrier and the
second uplink carrier belong to one of the at least two serving cells, and the DCI further includes a third indicator field;
the third indicator field indicates a first serving cell in the at least two serving cells; and
the uplink carrier indicated by the first indicator field is in the first serving cell.
[0014] In a possible design, the DCI includes a second indicator field, and the second indicator field indicates a
frequency resource to be used by the terminal device to send the uplink signal to the network device on the first uplink
carrier or the second uplink carrier; and a third bit quantity is equal to a fourth bit quantity, the third bit quantity is a bit
quantity of the second indicator field when the DCI indicates the first uplink carrier to be used by the terminal device to
send the uplink signal to the network device, and the fourth bit quantity is a bit quantity of the second indicator field when
the DCI indicates the second uplink carrier to be used by the terminal device to send the uplink signal to the network device.
[0015] In a possible design, the first message is a broadcast message or a system message, and the DCI is fallback DCI.
[0016] In a possible design, the first downlink carrier, the first uplink carrier, and the second uplink carrier belong to a
same cell.
[0017] According to a second aspect, this application provides a communication method, and the method includes:

determining, by a network device, DCI; and
sending, by the network device, the DCI to a terminal device on a first downlink carrier, where the DCI indicates an
uplink carrier to be used by the terminal device to send an uplink signal to the network device is a first uplink carrier
or a second uplink carrier; and a first bit quantity is equal to a second bit quantity, the first bit quantity is a bit quantity
of the DCI for indicating the first uplink carrier to be used by the terminal device to send an uplink signal to the
network device, and the second bit quantity is a bit quantity of the DCI for indicating the second uplink carrier to be
used by the terminal device to send an uplink signal to the network device.

[0018] Therefore, because the first bit quantity is equal to the second bit quantity, after the network device sends the
DCI to the terminal device, the terminal device may perform blind detection for the DCI in search space based on the
first bit quantity (or the second bit quantity), in other words, only needs to perform blind detection in the search space
based on one bit quantity of the DCI, so as to improve efficiency of blind detection for the DCI by the terminal device,
and effectively avoid a problem that the terminal device possibly needs to perform blind detection for the DCI based on
a plurality of different bit quantities of the DCI in the prior art.
[0019] In a possible design, the DCI includes a first indicator field, and the first indicator field indicates the first uplink
carrier or the second uplink carrier.
[0020] In a possible design, the method further includes:
sending, by the network device, a first message to the terminal device, where the first message indicates that the DCI
includes a first indicator field, and the first indicator field indicates the first uplink carrier or the second uplink carrier.
[0021] In a possible design, the first uplink carrier includes at least one uplink bandwidth part BWP, and the second
uplink carrier includes at least one uplink BWP; and
the first indicator field indicates an uplink BWP on the first uplink carrier or an uplink BWP on the second uplink carrier.
[0022] In a possible design, there are at least two serving cells for the terminal device, and the first uplink carrier and
the second uplink carrier belong to one of the at least two serving cells; and
the uplink carrier indicated by the first indicator field is in the first serving cell.
[0023] In a possible design, there are at least two serving cells for the terminal device, the first uplink carrier and the
second uplink carrier belong to one of the at least two serving cells, and the DCI further includes a third indicator field;
the third indicator field indicates a first serving cell in the at least two serving cells; and
the uplink carrier indicated by the first indicator field is in the first serving cell.
[0024] In a possible design, the DCI includes a second indicator field, and the second indicator field indicates a
frequency resource to be used by the terminal device to send the uplink signal to the network device on the first uplink
carrier or the second uplink carrier; and a third bit quantity is equal to a fourth bit quantity, the third bit quantity is a bit
quantity of the second indicator field when the DCI indicates the first uplink carrier to be used by the terminal device to
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send the uplink signal to the network device, and the fourth bit quantity is a bit quantity of the second indicator field when
the DCI indicates the second uplink carrier to be used by the terminal device to send the uplink signal to the network device.
[0025] In a possible design, the first message is a broadcast message or a system message, and the DCI is fallback DCI.
[0026] In a possible design, the first downlink carrier, the first uplink carrier, and the second uplink carrier belong to a
same cell.
[0027] According to a third aspect, this application provides a terminal device, and the terminal device includes:

a transceiver module, configured to receive DCI from a network device on a first downlink carrier, where the DCI
indicates an uplink carrier to be used by the terminal device to send an uplink signal to the network device is a first
uplink carrier or a second uplink carrier; and a first bit quantity is equal to a second bit quantity, the first bit quantity
is a bit quantity of the DCI for indicating the first uplink carrier to be used by the terminal device to send an uplink
signal to the network device, and the second bit quantity is a bit quantity of the DCI for indicating the second uplink
carrier to be used by the terminal device to send an uplink signal to the network device; and
a processing module, configured to determine the first uplink carrier or the second uplink carrier based on the DCI.

[0028] In a possible design, the DCI includes a first indicator field, and the first indicator field indicates the first uplink
carrier or the second uplink carrier.
[0029] In a possible design, the transceiver module is further configured to receive a first message from the network
device, where the first message indicates that the DCI includes the first indicator field, and the first indicator field indicates
the first uplink carrier or the second uplink carrier; and
the processing module is specifically configured to determine the first uplink carrier or the second uplink carrier based
on the first indicator field.
[0030] In a possible design, the first uplink carrier includes at least one uplink bandwidth part BWP, and the second
uplink carrier includes at least one uplink BWP; and
the first indicator field indicates an uplink BWP on the first uplink carrier or an uplink BWP on the second uplink carrier.
[0031] In a possible design, there are at least two serving cells for the terminal device, and the first uplink carrier and
the second uplink carrier belong to one of the at least two serving cells; and
the uplink carrier indicated by the first indicator field is in the first serving cell.
[0032] In a possible design, there are at least two serving cells for the terminal device, the first uplink carrier and the
second uplink carrier belong to one of the at least two serving cells, and the DCI further includes a third indicator field;
the third indicator field indicates a first serving cell in the at least two serving cells; and
the uplink carrier indicated by the first indicator field is in the first serving cell.
[0033] In a possible design, the DCI includes a second indicator field, and the second indicator field indicates a
frequency resource to be used by the terminal device to send the uplink signal to the network device on the first uplink
carrier or the second uplink carrier; and a third bit quantity is equal to a fourth bit quantity, the third bit quantity is a bit
quantity of the second indicator field when the DCI indicates the first uplink carrier to be used by the terminal device to
send the uplink signal to the network device, and the fourth bit quantity is a bit quantity of the second indicator field when
the DCI indicates the second uplink carrier to be used by the terminal device to send the uplink signal to the network device.
[0034] In a possible design, the first message is a broadcast message or a system message, and the DCI is fallback DCI.
[0035] In a possible design, the first downlink carrier, the first uplink carrier, and the second uplink carrier belong to a
same cell.
[0036] According to a fourth aspect, this application provides a network device, and the network device includes:

a processing module, configured to determine DCI; and
a transceiver module, configured to send the DCI to a terminal device on a first downlink carrier, where the DCI
indicates an uplink carrier to be used by the terminal device to send an uplink signal to the network device is a first
uplink carrier or a second uplink carrier; and a first bit quantity is equal to a second bit quantity, the first bit quantity
is a bit quantity of the DCI for indicating the first uplink carrier to be used by the terminal device to send an uplink
signal to the network device, and the second bit quantity is a bit quantity of the DCI for indicating the second uplink
carrier to be used by the terminal device to send an uplink signal to the network device.

[0037] In a possible design, the DCI includes a first indicator field, and the first indicator field indicates the first uplink
carrier or the second uplink carrier.
[0038] In a possible design, the transceiver module is further configured to send a first message to the terminal device,
where the first message indicates that the DCI includes the first indicator field, and the first indicator field indicates the
first uplink carrier or the second uplink carrier.
[0039] In a possible design, the first uplink carrier includes at least one uplink bandwidth part BWP, and the second
uplink carrier includes at least one uplink BWP; and
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the first indicator field indicates an uplink BWP on the first uplink carrier or an uplink BWP on the second uplink carrier.
[0040] In a possible design, there are at least two serving cells for the terminal device, and the first uplink carrier and
the second uplink carrier belong to one of the at least two serving cells; and
the uplink carrier indicated by the first indicator field is in the first serving cell.
[0041] In a possible design, there are at least two serving cells for the terminal device, the first uplink carrier and the
second uplink carrier belong to one of the at least two serving cells, and the DCI further includes a third indicator field;
the third indicator field indicates a first serving cell in the at least two serving cells; and
the uplink carrier indicated by the first indicator field is in the first serving cell.
[0042] In a possible design, the DCI includes a second indicator field, and the second indicator field indicates a
frequency resource to be used by the terminal device to send the uplink signal to the network device on the first uplink
carrier or the second uplink carrier; and a third bit quantity is equal to a fourth bit quantity, the third bit quantity is a bit
quantity of the second indicator field when the DCI indicates the first uplink carrier to be used by the terminal device to
send the uplink signal to the network device, and the fourth bit quantity is a bit quantity of the second indicator field when
the DCI indicates the second uplink carrier to be used by the terminal device to send the uplink signal to the network device.
[0043] In a possible design, the first message is a broadcast message or a system message, and the DCI is fallback DCI.
[0044] In a possible design, the first downlink carrier, the first uplink carrier, and the second uplink carrier belong to a
same cell.
[0045] According to a fifth aspect, this application provides a communications apparatus. The communications appa-
ratus may be a terminal device, and the communications apparatus has a function of implementing the method example
in the first aspect. The communications apparatus includes a communications module and a processor.
[0046] The communications module is configured to perform communication and interaction with another device, for
example, receive downlink control information DCI from a network device on a first downlink carrier. The DCI indicates
an uplink carrier to be used by the terminal device to send an uplink signal to the network device is a first uplink carrier
or a second uplink carrier. A first bit quantity is equal to a second bit quantity, the first bit quantity is a bit quantity of the
DCI for indicating the first uplink carrier to be used by the terminal device to send an uplink signal to the network device,
and the second bit quantity is a bit quantity of the DCI for indicating the second uplink carrier to be used by the terminal
device to send an uplink signal to the network device.
[0047] The communications module may be an RF circuit, a Wi-Fi module, a communications interface, a Bluetooth
module, or the like.
[0048] The processor is configured to implement a function of the processing module in the third aspect, including:
determining the first uplink carrier or the second uplink carrier based on the DCI.
[0049] Optionally, the communications apparatus may further include a memory, configured to store a program and
the like. Specifically, the program may include program code, and the program code includes an instruction. The memory
may include a random access memory (random access memory, RAM), or may include a non-volatile memory (non-
volatile memory), for example, at least one magnetic disk memory. The processor executes the program stored in the
memory, to implement the foregoing function.
[0050] In a possible manner, the communications module, the processor, and the memory may be interconnected by
using a bus. The bus may be a peripheral component interconnect (peripheral component interconnect, PCI) bus, an
extended industry standard architecture (extended industry standard architecture, EISA) bus, or the like. The bus may
be classified into an address bus, a data bus, a control bus, and the like.
[0051] According to a sixth aspect, this application provides a communications apparatus. The communications ap-
paratus may be a network device, and the communications apparatus has a function of implementing the method example
in the second aspect. The communications apparatus includes a communications module and a processor.
[0052] The processor is configured to implement a function of the processing module in the fourth aspect, including:
determining DCI.
[0053] The communications module is configured to perform communication and interaction with another device, for
example, send the DCI to a terminal device on a first downlink carrier. The DCI indicates an uplink carrier to be used by
the terminal device to send an uplink signal to the network device is a first uplink carrier or a second uplink carrier. A
first bit quantity is equal to a second bit quantity, the first bit quantity is a bit quantity of the DCI for indicating the first
uplink carrier to be used by the terminal device to send an uplink signal to the network device, and the second bit quantity
is a bit quantity of the DCI for indicating the second uplink carrier to be used by the terminal device to send an uplink
signal to the network device.
[0054] The communications module may be an RF circuit, a Wi-Fi module, a communications interface, a Bluetooth
module, or the like.
[0055] Optionally, the communications apparatus may further include a memory, configured to store a program and
the like. Specifically, the program may include program code, and the program code includes an instruction. The memory
may include a RAM, or may include a non-volatile memory, for example, at least one magnetic disk memory. The
processor executes the program stored in the memory, to implement the foregoing function.
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[0056] In a possible manner, the communications module, the processor, and the memory may be interconnected by
using the bus. The bus may be a PCI bus, an EISA bus, or the like. The bus may be classified into an address bus, a
data bus, a control bus, and the like.
[0057] This application further provides a communications system. The system includes the terminal device provided
in any one of the foregoing designs, and may further include the network device that interacts with the terminal device
in the solution provided in this application.
[0058] This application further provides a computer storage medium. The storage medium stores a software program,
and when being read and executed by one or more processors, the software program may implement the communication
method provided in the foregoing aspects or the possible designs.
[0059] This application further provides a computer program product including an instruction. When the instruction is
run on a computer, the computer is enabled to perform the communication method in the foregoing aspects or the
possible designs.
[0060] This application further provides a computer program. When the computer program is run on a computer, the
computer is enabled to perform the communication method in the foregoing aspects or the possible designs.

BRIEF DESCRIPTION OF DRAWINGS

[0061]

FIG. 1 is a schematic diagram of a system architecture to which this application is applicable;
FIG. 2a is a schematic diagram of a possible scenario to which this application is applicable;
FIG. 2b is a schematic diagram of another possible scenario to which this application is applicable;
FIG. 3 is a corresponding schematic flowchart of a communication method according to this application;
FIG. 4 is a schematic structural diagram of a communications apparatus according to this application;
FIG. 5 is a schematic structural diagram of another communications apparatus according to this application;
FIG. 6 is a schematic structural diagram of another communications apparatus according to this application; and
FIG. 7 is a schematic structural diagram of another communications apparatus according to this application.

DESCRIPTION OF EMBODIMENTS

[0062] The following describes this application in detail with reference to the accompanying drawings in the specifi-
cation.
[0063] FIG. 1 is a schematic diagram of a system architecture to which this application is applicable. As shown in FIG.
1, the system architecture includes a network device 101 and one or more terminal devices, such as a terminal device
1021, a terminal device 1022, and a terminal device 1023 shown in FIG. 1. The network device 101 may transmit downlink
data to the terminal device 1021, the terminal device 1022, and the terminal device 1023 by using a network. The terminal
device 1021, the terminal device 1022, and the terminal device 1023 may transmit uplink data to the network device
101 by using a network.
[0064] In this application, a network device may be a base station (base station, BS) device. The base station device
may also be referred to as a base station, and is an apparatus that is deployed in a radio access network to provide a
wireless communication function. For example, a device that provides a base station function in a 2G network includes
a base transceiver station (base transceiver station, BTS) and a base station controller (base station controller, BSC).
A device that provides a base station function in a 3G network includes a NodeB (NodeB) and a radio network controller
(radio network controller, RNC). A device that provides a base station function in a 4G network includes an evolved
NodeB (evolved NodeB, eNB). A device that provides a base station function in a 5G network includes a new radio
NodeB (New Radio NodeB, gNB), a centralized unit (Centralized Unit, CU), a distributed unit (Distributed Unit), and a
new radio controller.
[0065] A terminal device is a device having a wireless receiving and sending function. The terminal device may be
deployed on land, for example, an indoor or outdoor device, a handheld device, or a vehicle-mounted device, or may
be deployed on the water (for example, a ship), or may be deployed in the air (for example, an airplane, a balloon, or a
satellite). The terminal device may be a mobile phone (mobile phone), a tablet computer (Pad), a computer having a
wireless receiving and sending function, a virtual reality (virtual reality, VR) terminal device, an augmented reality (aug-
mented reality, AR) terminal device, a wireless terminal device in industrial control (industrial control), a wireless terminal
device in self driving (self driving), a wireless terminal device in remote medical (remote medical), a wireless terminal
device in smart grid (smart grid), a wireless terminal device in transportation safety (transportation safety), a wireless
terminal device in smart city (smart city), a wireless terminal device in smart home (smart home), or the like.
[0066] In this application, the system architecture shown in FIG. 1 is mainly used as an example for description, but
does not constitute a limitation. For example, this application is further applicable to a system architecture in which a
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macro base station and a micro base station communicate with each other. This is not specifically limited.
[0067] A communications system to which the foregoing system architecture is applicable includes but is not limited
to: time division duplex-long term evolution (time division duplexing-long term evolution, TDD LTE), frequency division
duplex-long term evolution (frequency division duplexing-long term evolution, FDD LTE), long term evolution advanced
(long term evolution-advanced, LTE-A), and various future evolved wireless communications systems (for example, a
5G NR system).
[0068] In an example of the 5G NR system, the terminal device may send an uplink signal to the network device by
using a supplementary uplink carrier. The supplementary uplink carrier means that an uplink resource is only used for
uplink transmission in a current access technology. For example, in the 5G NR system, if a carrier A is only used for
uplink transmission in NR system but is not used for downlink transmission, or the carrier A is used for downlink trans-
mission in an LTE communications system but is not used for downlink transmission in NR system, the carrier A is a
supplementary uplink carrier.
[0069] In a possible scenario, referring to FIG. 2a, it is assumed that a terminal device a1 performs downlink commu-
nication and uplink communication (FDD) by using carriers whose frequencies are F1 and F2 respectively. After a network
device b1 configures a supplementary uplink carrier (a carrier F3) and configures, for the terminal device a, a function
of dynamically scheduling an uplink carrier, the terminal device a may perform downlink signal transmission by using
the carrier F1, and perform uplink signal transmission by using the carrier F2 or the carrier F3. In this case, the downlink
carrier F1, the uplink carrier F2, and the uplink carrier F3 belong to a same cell, in other words, the downlink carrier F1,
the uplink carrier F2, and the uplink carrier F3 belong to a same bandwidth combination, or the downlink carrier F1
corresponds to the uplink carrier F2 and the uplink carrier F3.
[0070] In another possible scenario, referring to FIG. 2b, it is assumed that a terminal device a2 performs uplink
communication and downlink communication by using a TDD carrier whose frequency is F4. After a network device b2
configures a supplementary uplink carrier (a carrier F5) and configures, for the terminal device a2, a function of dynamically
scheduling an uplink carrier, the terminal device a2 may perform downlink signal transmission by using a downlink slot
on the carrier F4, and perform uplink signal transmission by using an uplink slot on the carrier F4 or perform uplink signal
transmission by using the carrier F5. In this case, the carrier F4 and the uplink carrier F5 belong to a same cell.
[0071] In the prior art, for a case in which a terminal device can be scheduled to send uplink signals on two or more
uplink carriers, two uplink carriers (a first uplink carrier and a second uplink carrier) are used as an example. When a
network device schedules the terminal device to send an uplink signal on the first uplink carrier, the network device
sends DCI 1 to the terminal device. When the network device schedules the terminal device to send an uplink signal on
the second uplink carrier, the network device sends DCI 2 to the terminal device. A bit quantity of the DCI 1 and a bit
quantity of the DCI 2 may be different, so that the terminal device needs to separately perform blind detection for the
DCI based on the bit quantity of the DCI 1 and the bit quantity of the DCI 2, in other words, the terminal device needs
to separately perform blind detection based on the two different bit quantities of the DCI. Consequently, blind detection
for the DCI consumes a relatively long time and has relatively low efficiency.
[0072] Based on this, this application provides a communication method, including: receiving, by a terminal device,
downlink control information DCI from a network device on a first downlink carrier, and determining the first uplink carrier
or the second uplink carrier based on the DCI, where the DCI indicates an uplink carrier to be used by the terminal
device to send an uplink signal to the network device is a first uplink carrier or a second uplink carrier; and a first bit
quantity is equal to a second bit quantity, the first bit quantity is a bit quantity of the DCI for indicating the first uplink
carrier to be used by the terminal device to send an uplink signal to the network device, and the second bit quantity is
a bit quantity of the DCI for indicating the second uplink carrier to be used by the terminal device to send an uplink signal
to the network device. In this application, because the first bit quantity is equal to the second bit quantity, the terminal
device may perform blind detection for the DCI in search space based on the first bit quantity (or the second bit quantity),
in other words, only needs to perform blind detection in the search space based on one bit quantity of the DCI, so as to
improve efficiency of blind detection for the DCI by the terminal device, and effectively avoid a problem that the terminal
device possibly needs to perform blind detection for the DCI based on a plurality of different bit quantities of the DCI in
prior art.
[0073] The following points should be noted: (1) The uplink carrier in this application may be referred to as an uplink
resource, an uplink frequency, or an uplink, and similarly, the downlink carrier in this application may be a downlink
resource, a downlink frequency, or a downlink. It should be understood that a carrier is a section of frequency resources
in frequency domain in technical essence. The frequency resource may be referred to as a carrier in the communications
field, and certainly may be described by using another name. This is not limited in this application. (2) The communication
method in this application is described by using a case in which the terminal device can be scheduled on the first uplink
carrier and the second uplink carrier as an example. The method is also applicable to a case in which the terminal device
can be scheduled on a plurality of uplink carriers. When the terminal device can be scheduled on the plurality of uplink
carriers, bit quantities of the DCI for the terminal device to send uplink signals to the network device on different uplink
carriers are equal. (3) The bit quantity of the DCI may be understood as a size or a length of the DCI. The bit quantity
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of the DCI may be a bit quantity of a payload (payload) of the DCI, or may be a bit quantity of total load of the DCI. For
example, the total load of the DCI may include or may not include a padding (padding) bit.
[0074] FIG. 3 is a schematic flowchart of a communication method according to this application. As shown in FIG. 3,
the method includes the following steps.
[0075] Step 301: A network device determines DCI.
[0076] Herein, the network device determines a to-be-scheduled uplink carrier as a first uplink carrier or a second
uplink carrier, to generate the DCI based on the determined first uplink carrier or second uplink carrier. Specifically, if
the network device determines the to-be-scheduled uplink carrier as the first uplink carrier, the generated DCI indicates
an uplink carrier to be used by the terminal device to send an uplink signal to the network device is the first uplink carrier.
If the network device determines the to-be-scheduled uplink carrier as the second uplink carrier, the generated DCI
indicates an uplink carrier to be used by the terminal device to send an uplink signal to the network device is on the
second uplink carrier.
[0077] Further, the network device may determine the to-be-scheduled uplink carrier based on a plurality of factors.
For example, the network device may determine the to-be-scheduled uplink carrier based on current utilization of the
first uplink carrier and current utilization of the second uplink carrier. This is not specifically limited.
[0078] In this application, either of the first uplink carrier and the second uplink carrier may be a supplementary uplink
carrier. In an example, the first uplink carrier is an NR TDD uplink carrier, and the second uplink carrier is a supplementary
uplink carrier.
[0079] Step 302: The network device sends the DCI to the terminal device on a first downlink carrier.
[0080] The DCI indicates an uplink carrier to be used by the terminal device to send an uplink signal to the network
device is the first uplink carrier or the second uplink carrier. A first bit quantity is equal to a second bit quantity, the first
bit quantity is a bit quantity of the DCI for indicating the first uplink carrier to be used by the terminal device to send an
uplink signal to the network device, and the second bit quantity is a bit quantity of the DCI for indicating the second uplink
carrier to be used by the terminal device to send an uplink signal to the network device. Herein, the uplink signal may
be an uplink data signal, or may be an uplink control signal, or may be an uplink measurement signal. A type of the
uplink signal is not limited herein. The uplink data signal may be a physical uplink shared channel (physical-layer uplink
shared channel, PUSCH), or may have another name. Any signals that are substantially the same as the uplink data
signal fall within the protection scope of this application. The uplink measurement signal may be a sounding reference
signal (sounding reference signal, SRS), or certainly may have another name.
[0081] In this application, the first downlink carrier, the first uplink carrier, and the second uplink carrier belong to a
same cell, or the first downlink carrier, the first uplink carrier, and the second uplink carrier belong to a same bandwidth
combination; in other words, the first downlink carrier corresponds to the first uplink carrier and the second uplink carrier,
or the first uplink carrier and the second uplink carrier correspond to the first downlink carrier. In an example, if the first
uplink carrier is an NR TDD uplink carrier, and the second uplink carrier is a supplementary uplink carrier, the first
downlink carrier is an NR TDD downlink carrier, or if the first uplink carrier is a supplementary uplink carrier, and the
second uplink carrier is an NR TDD uplink carrier, the first downlink carrier is an NR TDD downlink carrier.
[0082] Step 303: The terminal device receives the DCI from the network device on the first downlink carrier.
[0083] Herein, because the first bit quantity is equal to the second bit quantity, the terminal device may perform blind
detection in search space and obtain the DCI based on the first bit quantity (or the second bit quantity).
[0084] Step 304: The terminal device determines the first uplink carrier or the second uplink carrier based on the DCI.
[0085] Herein, if determining the first uplink carrier based on the DCI, the terminal device may send the uplink signal
to the network device on the first uplink carrier. If determining the second uplink carrier based on the DCI, the terminal
device may send the uplink signal to the network device on the second uplink carrier.
[0086] The following describes content included in DCI in this application.
[0087] The DCI may include a first indicator field, and the first indicator field indicates the first uplink carrier or the
second uplink carrier. Therefore, in step 304, the terminal device may determine the first uplink carrier or the second
uplink carrier based on the first indicator field. It should be noted that the terminal device may determine the first uplink
carrier or the second uplink carrier in many manners based on the DCI, and this is merely a possible determining manner.
[0088] Further, a possible implementation of the first indicator field is as follows: For a scenario in which the network
device may allocate a resource to the terminal device within a bandwidth range of the first uplink carrier or the second
uplink carrier, the first indicator field may indicate the first uplink carrier or the second uplink carrier, and the terminal
device may send the uplink signal to the network device on the uplink carrier or the second uplink carrier indicated by
the first indicator field.
[0089] Specifically, a correspondence between a state of the first indicator field and an indicated uplink carrier may
be preset, or may be preconfigured by the network device and then sent to the terminal device. Therefore, after receiving
the DCI, the terminal device may obtain the state of the first indicator field through parsing, to determine the first uplink
carrier or the second uplink carrier based on the correspondence between the state of the first indicator field and the
indicated uplink carrier.
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[0090] In an example, the first indicator field may include one bit, and the correspondence between the state of the
first indicator field and the indicated uplink carrier may be shown in Table 1a or Table 1b.

[0091] As shown in Table 1a, when the state of the first indicator field is "0", the first uplink carrier is indicated, or when
the state of the first indicator field is "1", the second uplink carrier is indicated. As shown in Table 1b, when the state of
the first indicator field is "0", the second uplink carrier is indicated, or when the state of the first indicator field is "1", the
first uplink carrier is indicated.
[0092] Optionally, the first indicator field may be a cell-common (cell common or cell specific) field. It should be
understood that all terminal devices in a cell have a same understanding of the first indicator field. For example, for any
terminal device, when the state of the first indicator field is 0, an uplink carrier indicated by the first indicator field is an
NR TDD uplink carrier, or when the state of the first indicator field is 1, an uplink carrier indicated by the first indicator
field is an SUL carrier. The first indicator field may alternatively be a terminal device-specific (UE specific) field. It should
be understood that terminal devices in a cell may have different understandings of the first indicator field. For example,
for a first terminal device, when the state of the first indicator field is 0, an uplink carrier indicated by the first indicator
field is an NR TDD uplink carrier, or when the state of the first indicator field is 1, an uplink carrier indicated by the first
indicator field is an SUL carrier. For a second terminal device, when the state of the first indicator field is 0, an uplink
carrier indicated by the first indicator field is an SUL carrier, or when the state of the first indicator field is 1, an uplink
carrier indicated by the first indicator field is an NR TDD uplink carrier.
[0093] It should be noted that the network device may send a plurality of types of DCI to the terminal device, and the
DCI may include a plurality of types of a first indicator field. For some types of DCI, the first indicator field may be a cell-
common field, and for some other types of DCI, the first indicator field may be a terminal device-specific field.
[0094] In another possible implementation, in a 5G NR system, a maximum bandwidth of a carrier may reach 400
MHz, but a maximum bandwidth capability supported by the terminal device may not reach such the high bandwidth.
Therefore, when the terminal device does not support a bandwidth capability of a carrier, the network device first needs
to configure one or more bandwidth parts (bandwidth part, BWP) for the terminal device on the carrier, and then allocates
a resource to the terminal device within a range of the BWP. In this case, the first uplink carrier may include at least one
uplink BWP, and the second uplink carrier may include at least one uplink BWP. In an example, the first uplink carrier
includes two uplink BWPs that are respectively an uplink BWP 1a and an uplink BWP 1b, and the second uplink carrier
includes two uplink BWPs that are respectively an uplink BWP 2a and an uplink BWP 2b. It should be noted that 1a, 1b,
2a, and 2b are merely used to distinguish between the four different BWPs, but do not constitute a limitation on a method
for numbering the BWPs. The four BWPs may alternatively be numbered as a BWP 0, a BWP 1, a BWP 2, and a BWP
3, or may be numbered in another manner. The DCI needs to indicate an uplink BWP on the first uplink carrier or an
uplink BWP on the second uplink carrier, so that the terminal device can send an uplink signal to the network device on
the uplink BWP on the first uplink carrier that is indicated by the DCI or the uplink BWP on the second uplink carrier that
is indicated by the DCI.
[0095] Optionally, the DCI includes a first indicator field, and the first indicator field indicates an uplink BWP on the
first uplink carrier or an uplink BWP on the second uplink carrier.
[0096] Similarly, a correspondence between a state of the first indicator field and an indicated uplink carrier may be
preset, or may be preconfigured by the network device and then sent to the terminal device.
[0097] In an example, the first indicator field may include two parts. A first part indicates a target uplink carrier, and a
second part indicates a BWP on the target uplink carrier. Based on the foregoing example, it may be set that the first
part of the first indicator field includes one bit, the second part of the first indicator field includes one bit, the first part is
a high bit, and the second part is a low bit. Therefore, the correspondence between the state of the first indicator field

Table 1a: Example 1 of a correspondence in a first possible implementation

State of the first indicator field Indicated uplink carrier

0 First uplink carrier

1 Second uplink carrier

Table 1b: Example 2 of a correspondence in the first possible implementation

State of the first indicator field Indicated uplink carrier

1 First uplink carrier

0 Second uplink carrier
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and the indicated content may be shown in Table 2a.

[0098] It should be noted that Table 2a is only a possible example for representation. In another example, the low bit
in the first indicator field may indicate the target uplink carrier, and the high bit may indicate the BWP on the target uplink
carrier.
[0099] In another example, a part used to indicate a target uplink carrier and a part used to indicate a BWP on the
target uplink carrier are not distinguished between each other in the first indicator field. Based on the foregoing example,
it may be set that the first indicator field includes two bits. A correspondence between a state of the first indicator field
and indicated content may be shown in Table 2b.

[0100] It should be noted that Table 2b is only a possible example for representation. In another example, the foregoing
correspondence may be flexibly set.
[0101] It should be further noted that a quantity of BWPs included in the first uplink carrier or the second uplink carrier
is not limited to 2 in this embodiment, and may be 3, 4, or more. In addition, a quantity of BWPs included in the first
uplink carrier may be different from a quantity of BWPs included in the second uplink carrier. For example, the quantity
of BWPs in the first uplink carrier is 4, and the quantity of BWPs in the second uplink carrier is 1.
[0102] A bit quantity of the first indicator field is not limited to two, and may be three or more.
[0103] Optionally, the DCI includes a first indicator field and a fourth indicator field, the first indicator field indicates a
target uplink carrier, and the fourth indicator field indicates a target BWP on the target uplink carrier. The first indicator
field and the fourth indicator field may be two separate indicator fields. Based on the foregoing example, it may be set
that the first indicator field includes one bit, and the fourth indicator field includes one bit. A correspondence between a
state of the first indicator field and indicated content may be shown in Table 2c, and a correspondence between a state
of the fourth indicator field and indicated content may be shown in Table 2d.

Table 2a: Example 1 of a correspondence in a second possible implementation

State of the first indicator field Indicated content

10 BWP 1a

11 BWP 1b

00 BWP 2a

01 BWP 2b

Table 2b: Example 2 of a correspondence in the second possible 
implementation

State of the first indicator field Indicated content

10 BWP 1a

11 BWP 2a

00 BWP 1b

01 BWP 2b

Table 2c: Example 3 of a correspondence in the second possible implementation

State of the first indicator field Indicated content

1 First uplink carrier

0 Second uplink carrier

Table 2d: Example 4 of a correspondence in the second possible implementation

State of the fourth indicator field Indicated content

1 BWP 1a or BWP 2a

0 BWP 1b or BWP 2b
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[0104] In still another possible implementation, the terminal device supports carrier aggregation, in other words, there
are at least two serving cells for the terminal device, and the first uplink carrier and the second uplink carrier belong to
one of the at least two serving cells. In an example, the terminal device has two serving cells that are respectively a
serving cell a and a serving cell b. The serving cell a includes an uplink carrier a1 and an uplink carrier a2, and the
serving cell b includes an uplink carrier b1 and an uplink carrier b2. For the serving cell a, if the uplink carrier a1 is the
first uplink carrier, the uplink carrier a2 is the second uplink carrier, or if the uplink carrier a1 is the second uplink carrier,
the uplink carrier a2 is the first uplink carrier. For the serving cell b, if the uplink carrier b1 is the first uplink carrier, the
uplink carrier b2 is the second uplink carrier, or if the uplink carrier b1 is the second uplink carrier, the uplink carrier b2
is the first uplink carrier. It should be noted that a1, a2, b1, and b2 are merely used to distinguish between the four
different uplink carriers, but do not constitute a limitation on a method for numbering the uplink carriers. The four uplink
carriers may alternatively be numbered as an uplink carrier 0, an uplink carrier 1, an uplink carrier 2, and an uplink carrier
3, or certainly may be numbered in another manner. Similarly, a and b are merely used to distinguish between the two
different serving cells, but do not constitute a limitation on a method for numbering the serving cells. The two serving
cells may alternatively be numbered as a serving cell 0 and a serving cell 1, or may be numbered in another manner.
In this case, the DCI needs to indicate an uplink carrier in one of the at least two serving cells, so that the terminal device
can send an uplink signal to the network device based on the uplink carrier in one of the serving cells that is indicated
by the DCI.
[0105] Optionally, the DCI includes a first indicator field, and the uplink carrier indicated by the first indicator field is in
the first serving cell.
[0106] Similarly, a correspondence between a state of the first indicator field and an indicated uplink carrier may be
preset, or may be preconfigured by the network device and then sent to the terminal device.
[0107] In an example, the first indicator field may include two parts. A first part indicates a target serving cell in the
two serving cells, and a second part indicates a target uplink carrier in the target serving cell. Based on the foregoing
example, it may be set that the first part of the first indicator field includes one bit, the second part of the first indicator
field includes one bit, the first part is a high bit, and the second part is a low bit. Therefore, the correspondence between
the state of the first indicator field and the indicated content may be shown in Table 3a.

[0108] It should be noted that Table 3a is only a possible example for representation. In another example, the low bit
in the first indicator field may indicate the target serving cell, and the high bit may indicate the target uplink carrier in the
target serving cell.
[0109] In another example, a part used to indicate a target serving cell and a part used to indicate an uplink carrier in
the target serving cell are not distinguished between each other in the first indicator field. Based on the foregoing example,
it may be set that the first indicator field includes two bits. A correspondence between a state of the first indicator field
and indicated content may be shown in Table 3b.

[0110] It should be noted that Table 3b is only a possible example for representation. In another example, the foregoing
correspondence may be flexibly set.
[0111] It should be further noted that a quantity of uplink carriers included in the serving cell a or the serving cell b is

Table 3a: Example 1 of a correspondence in a third possible implementation

State of the first indicator field Indicated content

10 Uplink carrier a1

11 Uplink carrier a2

00 Uplink carrier b1

01 Uplink carrier b2

Table 3b: Example 2 of a correspondence in the second possible implementation

State of the first indicator field Indicated content

10 Uplink carrier a1

11 Uplink carrier b1

00 Uplink carrier a2

01 Uplink carrier b2
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not limited to 2 in this embodiment, and may be 3, 4, or more. In addition, a quantity of uplink carriers included in the
serving cell a may be different from a quantity of uplink carriers included in the serving cell b. For example, the quantity
of uplink carriers in the serving cell a is 4, and the quantity of uplink carriers in the serving cell b is 2.
[0112] A bit quantity of the first indicator field is not limited to two, and may be three or more.
[0113] Optionally, the DCI includes a first indicator field and a third indicator field, the first indicator field indicates a
target serving cell, and the fourth indicator field indicates a target uplink carrier in the target serving cell. The first indicator
field and the third indicator field may be two separate indicator fields. Based on the foregoing example, it may be set
that the first indicator field includes one bit, and the third indicator field includes one bit. A correspondence between a
state of the first indicator field and indicated content may be shown in Table 3c, and a correspondence between a state
of the third indicator field and indicated content may be shown in Table 3d.

[0114] The DCI may further include a second indicator field, and the second indicator field indicates a frequency
resource to be used by the terminal device to send the uplink signal to the network device on the first uplink carrier or
the second uplink carrier. A third bit quantity is equal to a fourth bit quantity, the third bit quantity is a bit quantity of the
second indicator field when the DCI indicates the first uplink carrier to be used by the terminal device to send the uplink
signal to the network device, and the fourth bit quantity is a bit quantity of the second indicator field when the DCI indicates
the second uplink carrier to be used by the terminal device to send the uplink signal to the network device.
[0115] A bit quantity of the second indicator field (namely, the third bit quantity or the fourth bit quantity) may be
specifically predetermined by the network device in a plurality of manners. For example, the bit quantity of the second
indicator field may be determined based on both configuration information of the first uplink carrier and configuration
information of the second uplink carrier. The configuration information of the first uplink carrier includes a quantity of
resource blocks included in a bandwidth of the first uplink carrier. The configuration information of the second uplink
carrier includes a quantity of resource blocks included in a bandwidth of the second uplink resource.
[0116] In a first possible implementation, the bit quantity of the second indicator field is determined based on a larger
value between the quantity of resource blocks included in the bandwidth of the first uplink carrier and the quantity of
resource blocks included in the bandwidth of the second uplink carrier. For example, if X1 bits are required when the
second indicator field indicates the resource blocks in the bandwidth of the first uplink carrier, X2 bits are required when
the second indicator field indicates the resource blocks in the bandwidth of the second uplink carrier, and X1 is greater
than X2, it may be determined that the bit quantity of the second indicator field is X1. In this case, when the DCI indicates
an uplink carrier to be used by the terminal device to send an uplink signal to the network device is the second uplink
carrier, the first X2 bits in the second indicator field indicate a frequency domain resource location, and the last X1-X2
bits are padding bits.
[0117] In a second possible implementation, the bit quantity of the second indicator field is determined based on a
smaller value between the quantity of resource blocks included in the bandwidth of the first uplink carrier and the quantity
of resource blocks included in the bandwidth of the second uplink carrier. For example, if X1 bits are required when the
second indicator field indicates the resource blocks in the bandwidth of the first uplink carrier, X2 bits are required when
the second indicator field indicates the resource blocks in the bandwidth of the second uplink carrier, and X1 is greater
than X2, it may be determined that the bit quantity of the second indicator field is X2s. Therefore, the network device
can only schedule the quantity of resource blocks corresponding to X2 bits in the bandwidth of the first uplink carrier, or
a granularity of a frequency domain resource scheduled by the network device in the bandwidth of the first uplink carrier
is increased.
[0118] It should be noted that the bandwidth of the uplink carrier in the foregoing content may be specifically an initial
uplink bandwidth (initial UL BWP) configured by the network device, or may be a default uplink bandwidth (default UL

Table 3c: Example 3 of a correspondence in the third possible implementation

State of the first indicator field Indicated content

0 Serving cell a

1 Serving cell b

Table 3d: Example 4 of a correspondence in the third possible implementation

State of the third indicator field Indicated content

0 Uplink carrier a1 or uplink carrier b1

1 Uplink carrier a2 or uplink carrier b2
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BWP).
[0119] It should be further noted that, in this embodiment of this application, all possible implementations of the first
indicator field, the second indicator field, and the third indicator field are not limited to being applied to a case in which
the first bit quantity is equal to the second bit quantity, and may be further applied to a case in which the first bit quantity
is not equal to the second bit quantity.
[0120] For the foregoing method procedure, this application may further include the following steps:

Step 300a: The network device sends a first message to the terminal device, where the first message indicates that
the DCI includes the first indicator field.
Step 300b: The terminal device receives the first message from the network device.

[0121] Herein, the first message may be a system message or a broadcast message. When a supplementary uplink
carrier is configured in the first message, the first message indicates that the DCI includes the first indicator field. In
another implementation, if no supplementary uplink carrier is configured in the first message, the first message may
indicate that the DCI includes or does not include the first indicator field.
[0122] Alternatively, the first message may be higher layer signaling sent by the network device to a specific terminal
device. When a function of dynamically scheduling an uplink carrier by the terminal device is configured in the first
message, the first message indicates that the DCI includes the first indicator field. In another implementation, when a
function of dynamically scheduling an uplink carrier by the terminal device is not configured in the first message, the first
message may indicate that the DCI includes or does not include the first indicator field. In this case, the first message
may indicate a fixed uplink carrier, or another message sent by the network device to the terminal device may indicate
a fixed uplink carrier. The fixed uplink carrier may be the first uplink carrier or the second uplink carrier. For example,
when the fixed uplink carrier is the first uplink carrier, the DCI that is sent by the network device to the terminal device
and that is used to schedule uplink data transmission can be only used to schedule the terminal device to send uplink
data on the first uplink carrier. In this case, the DCI may include or may not include the first indicator field. When the
DCI includes the first indicator field, the state of the first indicator field may be a fixed state, for example, is always 0 or
1, or may be a random state, for example, is randomly 0 or 1. In this case, the terminal device may not determine an
uplink carrier based on the first indicator field in the DCI, but directly determines the first uplink carrier to send the uplink
data. The foregoing features are also applicable to fallback DCI.
[0123] For the DCI in this application, the following points should be noted:

(1) The bit quantity of the DCI (namely, the first bit quantity or the second bit quantity) may be predetermined by the
network device. Specifically, after configuring the first uplink carrier and the second uplink carrier, the network device
may determine the bit quantity of the DCI based on bandwidths, subcarrier spacings, or other configuration param-
eters of the first uplink carrier and the second uplink carrier. Subsequently, the network device may send the DCI
to the terminal device based on the determined bit quantity of the DCI.
(2) The DCI in this application may be the fallback DCI, and the fallback DCI may be understood as default DCI or
DCI in a default state, or may be understood as DCI detected by the terminal device in cell-common search space.
A name of the DCI is not limited. The terminal device that accesses the network device can only detect the fallback
DCI when a specific condition is met (for example, the terminal device does not receive configuration information
sent by the network device by using RRC signaling), and sends an uplink signal to the network device based on the
detected fallback DCI. In this application, for the fallback DCI, because the first bit quantity is equal to the second
bit quantity, it can be effectively ensured that the bit quantity of the DCI remains unchanged in a process in which
the network device performs RRC reconfiguration, so as to avoid a case in which the network device and the terminal
device have inconsistent understandings of the bit quantity of the DCI. The fallback DCI may be fallback DCI specially
used for uplink scheduling, or may be fallback DCI designed for both downlink scheduling and uplink scheduling.

[0124] In this application, if the network device configures a supplementary uplink carrier, the fallback DCI sent by the
network device includes the first indicator field (and the third indicator field or the fourth indicator field). If the network
device configures no supplementary uplink carrier, the fallback DCI sent by the network device may include or may not
include the first indicator field (and the third indicator field or the fourth indicator field).
[0125] In this application, in a process in which the network device performs RRC configuration or RRC reconfiguration
for the terminal device, the bit quantity of the fallback DCI sent by the network device to the terminal device remains
unchanged, so that the terminal device can receive the fallback DCI from the network device in the RRC configuration
or RRC reconfiguration process, and can perform blind detection for the DCI based on one bit quantity of the DCI. In
this way, the terminal device can determine the bit quantity of the fallback DCI in the RRC configuration or RRC recon-
figuration process, to perform blind detection for the fallback DCI.
[0126] The DCI in this application may alternatively be non-fallback DCI, namely, DCI for a specific terminal device.
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If the network device configures, for the terminal device, a function of dynamically scheduling an uplink carrier, the DCI
sent by the network device to the terminal device includes the first indicator field (and the third indicator field or the fourth
indicator field). If the network device does not configure, for the terminal device, a function of dynamically scheduling
an uplink carrier, the DCI sent by the network device to the terminal device may include or may not include the first
indicator field (and the third indicator field or the fourth indicator field).
[0127] For a case in which the network device does not configure, for the terminal device, the function of dynamically
scheduling the uplink carrier, the first bit quantity may be or may not be equal to the second bit quantity, and the bit
quantities of the second indicator field may be or may not be equal. In an example, when the network device configures
the first uplink carrier as a PUSCH carrier, the bit quantity of the second indicator field in the DCI is determined based
on the configuration information of the first uplink carrier. When the network device configures the second uplink carrier
as a PUSCH carrier, the bit quantity of the second indicator field in the DCI is determined based on the configuration
information of the second uplink carrier.
[0128] In this application, search space of first DCI may be the same as or may be different from search space of
second DCI. The first DCI indicates an uplink carrier to be used by the terminal device to send the uplink signal to the
network device is the first uplink carrier, and the second DCI indicates an uplink carrier to be used by the terminal device
to send the uplink signal to the network device is the second uplink carrier.
[0129] There is no association relationship between the search space of the first DCI and an uplink carrier scheduled
by using the first DCI. To be specific, the network device may send the first DCI or the second DCI to the terminal device
in the first search space, or the network device may send the first DCI to the terminal device in the first search space
and send the second DCI to the terminal device in the second search space, or the network device may send the first
DCI to the terminal device in the second search space and send the second DCI to the terminal device in the first search
space.
[0130] Specifically, for the fallback DCI, the search space of the first DCI is the same as the search space of the
second DCI. For the non-fallback DCI, the search space of the first DCI may be the same as or may be different from
the search space of the second DCI.
[0131] For the foregoing method procedure, this application further provides a terminal device and a network device.
For specific implementation of the terminal device and the network device, refer to the foregoing method procedure.
[0132] Based on the foregoing embodiment, this application provides a communications apparatus. The communica-
tions apparatus may be a terminal device, and is configured to implement corresponding procedures or steps performed
by the terminal device in the method embodiment shown in FIG. 3. Referring to FIG. 4, a communications apparatus
400 may include a transceiver module 401 and a processing module 402.
[0133] The transceiver module 401 is configured to receive DCI from a network device on a first downlink carrier. The
DCI indicates an uplink carrier to be used by the terminal device to send an uplink signal to the network device is a first
uplink carrier or a second uplink carrier. A first bit quantity is equal to a second bit quantity, the first bit quantity is a bit
quantity of the DCI for indicating the first uplink carrier to be used by the terminal device to send an uplink signal to the
network device, and the second bit quantity is a bit quantity of the DCI for indicating the second uplink carrier to be used
by the terminal device to send an uplink signal to the network device.
[0134] The processing module 402 is configured to determine the first uplink carrier or the second uplink carrier based
on the DCI.
[0135] In a possible design, the DCI includes a first indicator field, and the first indicator field indicates the first uplink
carrier or the second uplink carrier.
[0136] In a possible design, the transceiver module 401 is further configured to receive a first message from the
network device. The first message indicates that the DCI includes the first indicator field, and the first indicator field
indicates the first uplink carrier or the second uplink carrier.
[0137] The processing module 402 is specifically configured to determine the first uplink carrier or the second uplink
carrier based on the first indicator field.
[0138] In a possible design, the first uplink carrier includes at least one uplink bandwidth part BWP, and the second
uplink carrier includes at least one uplink BWP.
[0139] The first indicator field indicates an uplink BWP on the first uplink carrier or an uplink BWP on the second uplink
carrier.
[0140] In a possible design, there are at least two serving cells for the terminal device, and the first uplink carrier and
the second uplink carrier belong to one of the at least two serving cells.
[0141] The uplink carrier indicated by the first indicator field is in the first serving cell.
[0142] In a possible design, there are at least two serving cells for the terminal device, the first uplink carrier and the
second uplink carrier belong to one of the at least two serving cells, and the DCI further includes a third indicator field.
[0143] The third indicator field indicates a first serving cell in the at least two serving cells.
[0144] The uplink carrier indicated by the first indicator field is in the first serving cell.
[0145] In a possible design, the DCI includes a second indicator field. The second indicator field indicates a frequency
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resource to be used by the terminal device to send the uplink signal to the network device on the first uplink carrier or
the second uplink carrier. A third bit quantity is equal to a fourth bit quantity, the third bit quantity is a bit quantity of the
second indicator field when the DCI indicates the first uplink carrier to be used by the terminal device to send the uplink
signal to the network device, and the fourth bit quantity is a bit quantity of the second indicator field when the DCI indicates
the second uplink carrier to be used by the terminal device to send the uplink signal to the network device.
[0146] In a possible design, the first message is a broadcast message or a system message, and the DCI is fallback DCI.
[0147] In a possible design, the first downlink carrier, the first uplink carrier, and the second uplink carrier belong to a
same cell.
[0148] Based on the foregoing embodiment, this application further provides a communications apparatus. The com-
munications apparatus may be a network device, and is configured to implement corresponding procedures or steps
performed by the network device in the method embodiment shown in FIG. 3. Referring to FIG. 5, a communications
apparatus 500 may include a transceiver module 501 and a processing module 502. Specifically,
[0149] The processing module 502 is configured to determine DCI.
[0150] The transceiver module 501 is configured to send the DCI to a terminal device on a first downlink carrier. The
DCI indicates an uplink carrier to be used by the terminal device to send an uplink signal to the network device is a first
uplink carrier or a second uplink carrier. A first bit quantity is equal to a second bit quantity, the first bit quantity is a bit
quantity of the DCI for indicating the first uplink carrier to be used by the terminal device to send an uplink signal to the
network device, and the second bit quantity is a bit quantity of the DCI for indicating the second uplink carrier to be used
by the terminal device to send an uplink signal to the network device.
[0151] In a possible design, the DCI includes a first indicator field, and the first indicator field indicates the first uplink
carrier or the second uplink carrier.
[0152] In a possible design, the transceiver module 501 is further configured to send a first message to the terminal
device. The first message indicates that the DCI includes the first indicator field, and the first indicator field indicates the
first uplink carrier or the second uplink carrier.
[0153] In a possible design, the first uplink carrier includes at least one uplink bandwidth part BWP, and the second
uplink carrier includes at least one uplink BWP.
[0154] The first indicator field indicates an uplink BWP on the first uplink carrier or an uplink BWP on the second uplink
carrier.
[0155] In a possible design, there are at least two serving cells for the terminal device, and the first uplink carrier and
the second uplink carrier belong to one of the at least two serving cells.
[0156] The uplink carrier indicated by the first indicator field is in the first serving cell.
[0157] In a possible design, there are at least two serving cells for the terminal device, the first uplink carrier and the
second uplink carrier belong to one of the at least two serving cells, and the DCI further includes a third indicator field.
[0158] The third indicator field indicates a first serving cell in the at least two serving cells.
[0159] The uplink carrier indicated by the first indicator field is in the first serving cell.
[0160] In a possible design, the DCI includes a second indicator field. The second indicator field indicates a frequency
resource to be used by the terminal device to send the uplink signal to the network device on the first uplink carrier or
the second uplink carrier. A third bit quantity is equal to a fourth bit quantity, the third bit quantity is a bit quantity of the
second indicator field when the DCI indicates the first uplink carrier to be used by the terminal device to send the uplink
signal to the network device, and the fourth bit quantity is a bit quantity of the second indicator field when the DCI indicates
the second uplink carrier to be used by the terminal device to send the uplink signal to the network device.
[0161] In a possible design, the first message is a broadcast message or a system message, and the DCI is fallback DCI.
[0162] In a possible design, the first downlink carrier, the first uplink carrier, and the second uplink carrier belong to a
same cell.
[0163] It should be noted that, in this embodiment of this application, module division is an example, and is merely a
logical function division. In actual implementation, another division manner may be used. Functional modules in the
embodiments of this application may be integrated into one processing module, or each of the modules may exist alone
physically, or two or more modules are integrated into one module. The integrated module may be implemented in a
form of hardware, or may be implemented in a form of a software functional module.
[0164] When the integrated module is implemented in the form of a software functional module and sold or used as
an independent product, the integrated module may be stored in a computer-readable storage medium. Based on such
an understanding, the technical solutions of this application essentially, or the part contributing to the prior art, or all or
some of the technical solutions may be implemented in the form of a software product. The computer software product
is stored in a storage medium and includes instructions for instructing a computer device (which may be a personal
computer, a server, a network device, or the like) or a processor (processor) to perform all or some of the steps of the
methods described in the embodiments of this application. The foregoing storage medium includes any medium that
can store program code, such as a USB flash drive, a removable hard disk, a read-only memory (Read-Only Memory,
ROM), a random access memory (Random Access Memory, RAM), a magnetic disk, or an optical disc.
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[0165] Based on the foregoing embodiment, this application further provides a communications apparatus. The com-
munications apparatus may be a terminal device, and is configured to implement corresponding procedures or steps
performed by the terminal device in the method embodiment shown in FIG. 3. The communications apparatus has a
function of the communications apparatus 400 shown in FIG. 4. Referring to FIG. 6, a communications apparatus 600
includes a communications module 601 and a processor 602.
[0166] The communications module 601 is configured to perform communication and interaction with another device,
for example, receive downlink control information DCI from a network device on a first downlink carrier. The DCI indicates
an uplink carrier to be used by the terminal device to send an uplink signal to the network device is a first uplink carrier
or a second uplink carrier. A first bit quantity is equal to a second bit quantity, the first bit quantity is a bit quantity of the
DCI for indicating the first uplink carrier to be used by the terminal device to send an uplink signal to the network device,
and the second bit quantity is a bit quantity of the DCI for indicating the second uplink carrier to be used by the terminal
device to send an uplink signal to the network device.
[0167] The communications module 601 may be an RF circuit, a Wi-Fi module, a communications interface, a Bluetooth
module, or the like.
[0168] The processor 602 is configured to implement a function of the processing module in the third aspect, including:
determining the first uplink carrier or the second uplink carrier based on the DCI.
[0169] Optionally, the communications apparatus 600 may further include a memory 604, configured to store a program
and the like. Specifically, the program may include program code, and the program code includes an instruction. The
memory 604 may include a RAM, or may include a non-volatile memory, for example, at least one magnetic disk memory.
The processor 602 executes the program stored in the memory 604, to implement the foregoing function.
[0170] In a possible manner, the communications module 601, the processor 602, and the memory 604 are commu-
nicatively connected. For example, the communications module 601, the processor 602, and the memory 604 may be
interconnected by using a bus 603. The bus 603 may be a PCI bus, an EISA bus, or the like. The bus may be classified
into an address bus, a data bus, a control bus, and the like. For ease of representation, only one thick line is used to
represent the bus in FIG. 6, but this does not mean that there is only one bus or only one type of bus.
[0171] Based on the foregoing embodiment, this application further provides a communications apparatus. The com-
munications apparatus may be a network device, and is configured to implement corresponding procedures or steps
performed by the network device in the method embodiment shown in FIG. 3. The communications apparatus has a
function of the communications apparatus 500 shown in FIG. 5. Referring to FIG. 7, a communications apparatus 700
includes a communications module 701 and a processor 702.
[0172] The processor 702 is configured to implement a function of the processing module in the fourth aspect, including:
determining DCI.
[0173] The communications module 701 is configured to perform communication and interaction with another device,
for example, send the DCI to a terminal device on a first downlink carrier. The DCI indicates an uplink carrier to be used
by the terminal device to send an uplink signal to the network device is a first uplink carrier or a second uplink carrier.
A first bit quantity is equal to a second bit quantity, the first bit quantity is a bit quantity of the DCI for indicating the first
uplink carrier to be used by the terminal device to send an uplink signal to the network device, and the second bit quantity
is a bit quantity of the DCI for indicating the second uplink carrier to be used by the terminal device to send an uplink
signal to the network device.
[0174] The communications module 701 may be an RF circuit, a Wi-Fi module, a communications interface, a Bluetooth
module, or the like.
[0175] Optionally, the communications apparatus 700 may further include a memory 704, configured to store a program
and the like. Specifically, the program may include program code, and the program code includes an instruction. The
memory 704 may include a RAM, or may include a non-volatile memory, for example, at least one magnetic disk memory.
The processor 702 executes the program stored in the memory 704, to implement the foregoing function.
[0176] In a possible manner, the communications module 701, the processor 702, and the memory 704 are commu-
nicatively connected. For example, the communications module 701, the processor 702, and the memory 704 may be
interconnected by using a bus 703. The bus 703 may be a PCI bus, an EISA bus, or the like. The bus may be classified
into an address bus, a data bus, a control bus, and the like. For ease of representation, only one thick line is used to
represent the bus in FIG. 7, but this does not mean that there is only one bus or only one type of bus.
[0177] All or some of the foregoing embodiments may be implemented by using software, hardware, firmware, or any
combination thereof. When software is used to implement the embodiments, the embodiments may be implemented all
or partially in a form of a computer program product. The computer program product includes one or more computer
instructions. When the computer program instructions are loaded and executed on a computer, the procedure or functions
according to the embodiments of the present invention are all or partially generated. The computer may be a general-
purpose computer, a special-purpose computer, a computer network, or other programmable apparatuses. The computer
instruction may be stored in a computer-readable storage medium or may be transmitted from a computer-readable
storage medium to another computer-readable storage medium. For example, the computer instruction may be trans-
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mitted from a website, computer, server, or data center to another website, computer, server, or data center in a wired
(for example, a coaxial cable, an optical fiber, or a digital subscriber line (DSL)) or wireless (for example, infrared, radio,
or microwave) manner. The computer-readable storage medium may be any usable medium accessible by a computer,
or a data storage device, such as a server or a data center, integrating one or more usable media. The usable medium
may be a magnetic medium (for example, a floppy disk, a hard disk, or a magnetic tape), an optical medium (for example,
a DVD), a semiconductor medium (for example, a solid-state drive (solid state disk, SSD)), or the like.
[0178] The embodiments of the present invention are described with reference to the flowcharts and/or block diagrams
of the method, the device (system), and the computer program product according to the embodiments of the present
invention. It should be understood that computer program instructions may be used to implement each process and/or
each block in the flowcharts and/or the block diagrams and a combination of a process and/or a block in the flowcharts
and/or the block diagrams. These computer program instructions may be provided for a general-purpose computer, a
special-purpose computer, an embedded processor, or a processor of any other programmable data processing device
to generate a machine, so that the instructions executed by a computer or a processor of any other programmable data
processing device generate an apparatus for implementing a specific function in one or more processes in the flowcharts
and/or in one or more blocks in the block diagrams.
[0179] These computer program instructions may be stored in a computer-readable memory that can instruct the
computer or any other programmable data processing device to work in a specific manner, so that the instructions stored
in the computer-readable memory generate an artifact that includes an instruction apparatus. The instruction apparatus
implements a specific function in one or more processes in the flowcharts and/or in one or more blocks in the block
diagrams.
[0180] These computer program instructions may be loaded onto a computer or another programmable data processing
device, so that a series of operations and steps are performed on the computer or the another programmable device,
thereby generating computer-implemented processing. Therefore, the instructions executed on the computer or the
another programmable device provide steps for implementing a specific function in one or more processes in the flow-
charts and/or in one or more blocks in the block diagrams.
[0181] Apparently, a person skilled in the art can make various modifications and variations to the embodiments of
the present invention without departing from the spirit and scope of this application. This application is intended to cover
these modifications and variations provided that they fall within the scope of protection defined by the following claims
and their equivalent technologies.

Claims

1. A communication method, wherein the method comprises:

receiving, by a terminal device, downlink control information DCI from a network device on a first downlink
carrier, wherein the DCI indicating an uplink carrier to be used by the terminal device to send an uplink signal
to the network device is a first uplink carrier or a second uplink carrier; a first bit quantity is equal to a second
bit quantity, the first bit quantity is a bit quantity of the DCI for indicating the first uplink carrier to be used by the
terminal device to send an uplink signal to the network device and the second bit quantity is a bit quantity of
the DCI for indicating the second uplink carrier to be used by the terminal device to send an uplink signal to the
network device; and the first downlink carrier, the first uplink carrier, and the second uplink carrier belong to a
same cell; and
determining, by the terminal device, the first uplink carrier or the second uplink carrier based on the DCI.

2. The method according to claim 1, wherein the determining, by the terminal device, the first uplink carrier or the
second uplink carrier based on the DCI comprises:

receiving, by the terminal device, a first message from the network device, wherein the first message indicates
that the DCI comprises a first indicator field, and the first indicator field indicates the first uplink carrier or the
second uplink carrier; and
determining, by the terminal device, the first uplink carrier or the second uplink carrier based on the first indicator
field.

3. The method according to claim 2, wherein the first uplink carrier comprises at least one uplink bandwidth part BWP,
and the second uplink carrier comprises at least one uplink BWP; and
the first indicator field indicates an uplink BWP on the first uplink carrier or an uplink BWP on the second uplink carrier.
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4. The method according to claim 2, wherein there are at least two serving cells for the terminal device, and the first
uplink carrier and the second uplink carrier belong to one of the at least two serving cells, and
the uplink carrier indicated by the first indicator field is in one of the at least two serving cells.

5. The method according to claim 2, wherein there are at least two serving cells for the terminal device, the first uplink
carrier and the second uplink carrier belong to one of the at least two serving cells, and the DCI further comprises
a third indicator field;
the third indicator field indicates a first serving cell in the at least two serving cells; and
the uplink carrier indicated by the first indicator field is in the first serving cell.

6. The method according to any one of claims 1 to 5, wherein the DCI comprises a second indicator field, and the
second indicator field indicates a frequency resource to be used by the terminal device to send the uplink signal to
the network device on the first uplink carrier or the second uplink carrier; and a third bit quantity is equal to a fourth
bit quantity, the third bit quantity is a bit quantity of the second indicator field when the DCI indicates the first uplink
carrier to be used by the terminal device to send the uplink signal to the network device, and the fourth bit quantity
is a bit quantity of the second indicator field when the DCI indicates the second uplink carrier to be used by the
terminal device to send the uplink signal to the network device.

7. The method according to any one of claims 2 to 6, wherein the first message is a broadcast message or a system
message, and the DCI is fallback DCI.

8. The method according to any one of claims 2 to 5, wherein the first indicator field is a cell-common indicator field,
and the first indicator field has 1-bit; and when a state of the first indicator field is 0, the indicated uplink carrier is a
new radio time division duplex NR TDD uplink carrier, or when a state of the first indicator field is 1, the indicated
uplink carrier is a supplementary uplink SUL carrier.

9. A communication method, wherein the method comprises:

determining, by a network device, DCI; and
sending, by the network device, the DCI to a terminal device on a first downlink carrier, wherein the DCI indicates
an uplink carrier to be used by the terminal device to send an uplink signal to the network device is a first uplink
carrier or a second uplink carrier; and a first bit quantity is equal to a second bit quantity, the first bit quantity is
a bit quantity of the DCI for indicating the first uplink carrier to be used by the terminal device to send an uplink
signal to the network device, and the second bit quantity is a bit quantity of the DCI for indicating the second
uplink carrier to be used by the terminal device to send an uplink signal to the network device.

10. The method according to claim 9, wherein the method further comprises:
sending, by the network device, a first message to the terminal device, wherein the first message indicates that the
DCI comprises a first indicator field, and the first indicator field indicates the first uplink carrier or the second uplink
carrier.

11. The method according to claim 10, wherein the first uplink carrier comprises at least one uplink bandwidth part BWP,
and the second uplink carrier comprises at least one uplink BWP; and
the first indicator field indicates an uplink BWP on the first uplink carrier or an uplink BWP on the second uplink carrier.

12. The method according to claim 10, wherein there are at least two serving cells for the terminal device, and the first
uplink carrier and the second uplink carrier belong to one of the at least two serving cells; and
the uplink carrier indicated by the first indicator field is in one of the at least two serving cells.

13. The method according to any one of claims 9 to 12, wherein the DCI comprises a second indicator field, and the
second indicator field indicates a frequency resource to be used by the terminal device to send the uplink signal to
the network device is the first uplink carrier or the second uplink carrier; and a third bit quantity is equal to a fourth
bit quantity, the third bit quantity is a bit quantity of the second indicator field when the DCI indicates the first uplink
carrier to be used by the terminal device to send the uplink signal to the network device, and the fourth bit quantity
is a bit quantity of the second indicator field when the DCI indicates the first uplink carrier to be used by the terminal
device to send the uplink signal to the network device on the second uplink carrier.

14. The method according to any one of claims 10 to 13, wherein the first message is a broadcast message or a system
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message, and the DCI is fallback DCI.

15. The method according to any one of claims 9 to 12, wherein the first indicator field is a cell-common indicator field,
and the first indicator field has 1-bit; and when a state of the first indicator field is 0, the indicated uplink carrier is a
new radio time division duplex NR TDD uplink carrier, or when a state of the first indicator field is 1, the indicated
uplink carrier is a supplementary uplink SUL carrier.

16. A terminal device, wherein the terminal device comprises:

a transceiver module, configured to receive DCI from a network device on a first downlink carrier, wherein the
DCI indicates an uplink carrier to be used by the terminal device to send an uplink signal to the network device
is a first uplink carrier or a second uplink carrier; a first bit quantity is equal to a second bit quantity, the first bit
quantity is a bit quantity of the DCI for indicating the first uplink carrier to be used by the terminal device to send
an uplink signal to the network device, and the second bit quantity is a bit quantity of the DCI for indicating the
second uplink carrier to be used by the terminal device to send an uplink signal to the network device; and the
first downlink carrier, the first uplink carrier, and the second uplink carrier belong to a same cell; and
a processing module, configured to determine the first uplink carrier or the second uplink carrier based on the DCI.

17. The terminal device according to claim 16, wherein the transceiver module is further configured to receive a first
message from the network device, wherein the first message indicates that the DCI comprises a first indicator field,
and the first indicator field indicates the first uplink carrier or the second uplink carrier; and
the processing module is specifically configured to determine the first uplink carrier or the second uplink carrier
based on the first indicator field.

18. The terminal device according to claim 17, wherein the first uplink carrier comprises at least one uplink bandwidth
part BWP, and the second uplink carrier comprises at least one uplink BWP; and
the first indicator field indicates an uplink BWP on the first uplink carrier or an uplink BWP on the second uplink carrier.

19. The terminal device according to claim 17, wherein there are at least two serving cells for the terminal device, and
the first uplink carrier and the second uplink carrier belong to one of the at least two serving cells; and
the uplink carrier indicated by the first indicator field is in the first serving cell.

20. The terminal device according to claim 17, wherein there are at least two serving cells for the terminal device, the
first uplink carrier and the second uplink carrier belong to one of the at least two serving cells, and the DCI further
comprises a third indicator field;
the third indicator field indicates a first serving cell in the at least two serving cells; and
the uplink carrier indicated by the first indicator field is in the first serving cell.

21. The terminal device according to any one of claims 16 to 20, wherein the DCI comprises a second indicator field,
and the second indicator field indicates a frequency resource to be used by the terminal device to send the uplink
signal to the network device on the first uplink carrier or the second uplink carrier; and a third bit quantity is equal
to a fourth bit quantity, the third bit quantity is a bit quantity of the second indicator field when the DCI indicates the
first uplink carrier to be used by the terminal device to send the uplink signal to the network device, and the fourth
bit quantity is a bit quantity of the second indicator field when the DCI indicates the second uplink carrier to be used
by the terminal device to send the uplink signal to the network device.

22. The terminal device according to any one of claims 17 to 21, wherein the first message is a broadcast message or
a system message, and the DCI is fallback DCI.

23. The terminal device according to any one of claims 17 to 22, wherein the first indicator field is a cell-common indicator
field, and the first indicator field has 1-bit; and when a state of the first indicator field is 0, an indicated uplink carrier
is a new radio time division duplex NR TDD uplink carrier, or when a state of the first indicator field is 1, an indicated
uplink carrier is a supplementary uplink SUL carrier.

24. A network device, wherein the network device comprises:

a processing module, configured to determine DCI; and
a transceiver module, configured to send the DCI to a terminal device on a first downlink carrier, wherein the
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DCI indicates an uplink carrier to be used by the terminal device to send an uplink signal to the network device
is a first uplink carrier or a second uplink carrier; a first bit quantity is equal to a second bit quantity, the first bit
quantity is a bit quantity of the DCI for indicating the first uplink carrier to be used by the terminal device to send
an uplink signal to the network device, and the second bit quantity is a bit quantity of the DCI for indicating the
second uplink carrier to be used by the terminal device to send an uplink signal to the network device; and the
first downlink carrier, the first uplink carrier, and the second uplink carrier belong to a same cell.

25. The network device according to claim 24, wherein the transceiver module is further configured to send a first
message to the terminal device, wherein the first message indicates that the DCI comprises a first indicator field,
and the first indicator field indicates the first uplink carrier or the second uplink carrier.

26. The network device according to claim 25, wherein the first uplink carrier comprises at least one uplink bandwidth
part BWP, and the second uplink carrier comprises at least one uplink BWP; and
the first indicator field indicates an uplink BWP on the first uplink carrier or an uplink BWP on the second uplink carrier.

27. The network device according to claim 25, wherein there are at least two serving cells for the terminal device, and
the first uplink carrier and the second uplink carrier belong to one of the at least two serving cells; and
the uplink carrier indicated by the first indicator field is in the first serving cell.

28. The network device according to any one of claims 24 to 27, wherein the DCI comprises a second indicator field,
and the second indicator field indicates a frequency resource to be used by the terminal device to send the uplink
signal to the network device on the first uplink carrier or the second uplink carrier; and a third bit quantity is equal
to a fourth bit quantity, the third bit quantity is a bit quantity of the second indicator field when the DCI indicates the
first uplink carrier to be used by the terminal device to send the uplink signal to the network device, and the fourth
bit quantity is a bit quantity of the second indicator field when the DCI indicates the second uplink carrier to be used
by the terminal device to send the uplink signal to the network device.

29. The network device according to any one of claims 25 to 28, wherein the first message is a broadcast message or
a system message, and the DCI is fallback DCI.

30. The network device according to any one of claims 25 to 29, wherein the first indicator field is a cell-common indicator
field, and the first indicator field has 1-bit; and when a state of the first indicator field is 0, the indicated uplink carrier
is a new radio time division duplex NR TDD uplink carrier, or when a state of the first indicator field is 1, the indicated
uplink carrier is a supplementary uplink SUL carrier.

31. A computer-readable storage medium, wherein the storage medium stores an instruction, and when the instruction
is run on a computer, the computer is enabled to perform the communication method according to any one of claims
1 to 15.

32. A computer program product, wherein the computer program product comprises an instruction, and when the in-
struction is run on a computer, the computer is enabled to perform the communication method according to any one
of claims 1 to 15.
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